1. A projectile is fired at an upward angle of 45° from the top of a 233 m cliff with a speed of
192 m/s. What will be its speed when it strikes the ground below?

Solution.
Given: § = 45°, hy = 939m,h =233 m, v =192 =,

Find: v; =7

m
v, = const = v - cos45° = 192; .

N

m
= 135.765?

m 2 m
Uy, = V- sin45° =192 — - — = 135.765—
s 2 S
v 2 2
hy = 2 =2 =939 m,
29 2g9

h + h = 2 = /29 (ha ¥ 1) = (151.6402
ot _Zg’vyl_ g - (ho+ )—( . ?)»

5 5 m 2 m 2 m
v = [v,2 4,2 = (151.640—) + (135765~ ) =203.536 —

Answer:
m
v; = 203.536 ;
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